MWBINRFES DI NATZAKRE

= o 64 10H 6H HEH
& B B ZR—YAEFZZXI-hk

F BINNFZR =
F B BINNFZAh= BEE R
RN = (Z e
T4LI5— KA B&
LI1)—- ohAt 1RF
O-E>072)4v  shesr T k& TR &
k&S Bl E£¥F S KR &FEER T B FHF

KK BT EiE 28 AL 22 BB @5
£ 4 KM 10A6H(H)8:00  XERITERERAMELLES

U—J8 REEN—FAYNRC L EYIIYF (6 - 691TV—0) J-FRRIT-I5N
- FrRU—J DUIE2RINRRS b —F A NMOEHUET .
Y-8 EIRE

3F-L0BE 1-2,2-3.1-3

4F-LDIBEE 1-2.3-4.1-3.2-4.1-4.2-3
HEFIBRIORBRR BT —T 4 K MBRICIZZITV. Y-THEREZROHTHIL,
- &Y — LEORRRU. BB FREIEL UKD HHIEDHERHET .
SHEDARERETZATI7ET D,

BFR>IAYICSA-Y, LFREIE-IARESAY(T SrYEARE)ICZI- b3 0E33-YET B,

E=H—N-F4H> - "RZANMEOBREFEILT B U4~ LTYTA-YEFFRIBCLOARAEOHIRIE S,
-AE{EMK DUNLOP FORT
RO BF (i) B EEB. B3 (FiRhl) B EER. 5534

¥ (FHmRl) 25, @RS, 58 341

X A-A—ATIU—(FHBAFEKRNVUET.

XEEHS3000L LEFFMEFEDRESTI . EXATFSFEAR—LR-ITHEEBL A0,



27| A | 3mU—y 1240 REHC TR 12,88 7 B 19
v % N ) ] R R
| |58 &3 B HewR w | @ B X | G |BBlEs
K & # ™ &l &l Tl %] o a
BF AR AJOvs 2 3
1531 §H# BE PTT(Jr) ; 6 0 1
1 211 2] 0 |100] 13| 12 [0.92
1037| % ¥ | ONE PIECE 6| 6
21310 2 |ooo] 14] 2 |0.14
1199 HE BR | BTFHEL) 66 2
2121 1] 1050 15| 7 |047
BF AR BJAOvY 2 3
1820| 5 FH | EDOFHSC } 6 2 1
4 212 0 [t100f 15| 12 ]|0.80
1120| —#§ =# | ONE PIECE 6 1
212 1] 1]|os0] 15| 8 [053
1084| dti&E X T.P.JOY 6] 1 6‘
2183] 0] 2 |000| 14| 2 |0.14
BF AfR cavy 2 3
1578 Btk ZHA HTA 6 O 3
3 21| 2] 0|t100f 15| 12]0.80
1413) JIl0 && | ONE PIECE 6| 6
2183] 0] 2 |000] 13| 1 |0.08
1530| 5 EiB PTT(Jr) 6|16 1
2121 1] 1 o050 16] 9 |0.56
By AR DJOws 2 3
1203| A —i& | Swing!Swing! | 6 2 2
2 21| 2] 0 [100f 16] 12]0.75
1829 Kt #4|  PTTWr 6| 0
2121 1] 1 |os50] 14| 8 |057
1570| HH ER | EDOFZSCWr) 60 6
213 0] 2 |000| 14| 2 |0.14
EE I e
Al| 1531 §#F BE PTT(Jr) 1531 S BE
i 6
c2 | 1530 §# Eil& PTT(Jr) 6 1531 5H BE
v RET 7
D2 | 1829| /KLt #4t PTT(Jr) 1820 TE #E 6
iz 0 [3]
B1| 1820| FF& ¥H FHO#HSC 6 1531 5 BE
i
ci| 1578| Bk ZBH HTA 1578 ALt &8
i 6
A2 | 1199 H Lt BR BTFHES 0 1578 B &=MH
i 6
B2| 1120 —#L iF#& ONE PIECE 1203 MR —i 1
i 3
D1 | 1203 A —i&  Swing'Swing! 6
i




lg27| B | Fm)—y 1240 REHC TR 12,88 7 B 19
S R R
| | &8 281 B oL w | @ B X | G |BBlEs
& # Y| &l & #| 6| G
BF B#k AJOvY 1 2 3
1130| B:E A7 | HAZIF—5 | 6 1|6 O
1 211 2] 0 |100] 13| 12 [0.92
1064 LA B | =OHSC |1 6 6 3
212 1] 1 |os016] 7 (044
1312| ##% # HTAWJ 0 |
. ) 613 6 23| 0] 2 |0oof 15| 3 ]0.20
BF B#&k BJOwvY 1 2 3
1393| B8 KX | Swing'Swing! | -
4 A1 #X | SwingSwing! | 6 112 81, 2| 1| 1 [os0] 15| 8 |053
1543| Bl &%k | EOHSCWUN |1 6] 0 6
11830 2 |ooof 13| 1 |oo08
- | twol
1276 F#k Z|#L | ONEPIECE (6 2|6 O
2111 2] 0[100] 14] 12 [0.86
[(WO]
BF B#k cJovy 1 2 3
1356| A@ %A | TPJOY | 6 2|6 2
3 . 21| 2] 0 [100f 16] 12]0.75
1296| A % TOHSC |2 6] -
. TR 2O > 7 2130/ 2|ooof20] 7035
1581 &H {EF HTAWJr) 2 6|7 5
0 2121 1] 1 |o50 2] 9 [045
BF B#&k DJOwY 1 2 3
1545| AT Bk | mo#scun | [6 o2 6
2 . 2121 1] 1 o050 14] 8 |057
1547 ME =5 TPJOY |0 6| 1 6
. 213] 0] 2|000] 13| 1 |0.08
1129 £ — Swing!Swing!
. BAE—R| SwingSwing! | 6 216 2111 2] 0100 15| 12 |0.80
[BF] B#  [mBr—FAUH
A1 | 1130 BEBE AN HAZIEF—5 1130 Mg EN
i 6
c2| 1581 &F EF HTA(Jr) 1 1130 BEE N
fi 6
D2 | 1545 AL EiK EDFESCWr) 1276 FH B 1
fi 6
B1| 1276| F# ZE# ONE PIECE 7 1130 SRR
i1 [3]
c1| 1356 A RA T.P.JOY 1356 BE RA
iz
A2 | 1064] EA I BEDFHSC 4 1129 SARME—ER
ivd 1
B2 | 1393| 8% X  Swing!Swing!' 1129 #ARIE—BR 6
i 3
D1 1129| $5KE—ER  Swing!Swing! 6
iz




B5F CHk FE)—Y off A TE 9. R 5 5t 14
o 2 AREIEINMNEE
L 5 & e Hame i BB E s g
= i A IS
B5F C#k AJOwvs 1 2 3
3003 4B & | BT ) | 6 4|6 3
1 211|2|0]100] 19| 12]063
0
3000 4iF%F Nexus 4 6 7 5
2121 1] 1 [os0]22] 11050
0
3001| R BE | REASWUr 3 6|5 7
213|102 [ooof 21| 8 [o3s
0
BF C#k BJAwvY 1 2 3
3006| AT B | REREWr) ;‘ 0 63 6
3 2(3]0] 2 o00]15] 3 |020
0
3004 HH HRE | FEA/EWUr) |6 0| 2 6
212 1] 1 os0| 14| 8 [057
0
1596| f&JR" JEBI | Swing'Swing! | 6 3|6 2
211121 0/(100] 17| 12]071
0
B5F C#k cJovy 1 2 3
3005 #F & EAEWn ; 6 716 1
2 212 1] 1 [o50]20]( 12060
0 | 31
1242) #% B HTA(Jr) 7 6 6 0
211 2] 0100 19| 13]0s68
0 [3]
3002| EAERNEL| REAREWr) 6|10 6
2(3]0][ 2{ooo] 13| 1 |oos
0
BF C#k REL—F AR
Aq| 3003 HEH [E  KEJIFES (Jr) 3005 gL &
fir 1
B2 | 3004 HH HEL EEA/EWUr) 3005 gL & 6
fir 4
c2 | 3005 #FL &  FEA/AEWUN 6 3005 FL &
5L
gy | 1596 &R FEB)  Swing!Swing! 1596 BR A
Liva 6
A2 | 3000 st#% FE Nexus 0 1596 EE B
Liva 6
o1 | 1242 ®# B HTA(JN) 1

iz




BF| F&Hl 2 DE offl A FE 9.RE 5 5t 14
¥ & ADHHBRBE
|| B e 5 ot LR[BS |7
. % EA-T Bl HERR ; ol A N gﬁ ale
= B B ¥ | =
BF =) AJOwvy 2 3
1734 KR £&E| $H—530 6 1 3
1 2112|0100 16| 12]0.75
1405| TEK FEA {EEXTC 6
2130 2[oo0of 14| 2 [0.14
1067| B BAJIL | Swing!Swing! 6 1
212111 1 |os0] 16| 9 |os6
B5F F#5A BJAwvY 2
1219 BHF E Feain 6 1 1
3 2112|0100 14]12]086
1535 Bk |2 KRILTC 4
2121 1] 1 |os0] 17| 7 |os
1123) B[R BE fEBRTC 4 6
21310 2]ooof17| 5 |o29
5F FH5 A cavy 2
1115 Tl # | 7=X-3K 6 2 6
2 2121 1]os0] 17| 9 |o53
1228| =5 ¥t TERRTC 6
2130 2o00]15] 3 |o020
111 )l 8= | Swing'Swing! 6 1
211 2] 0100|116 12]075
BF| F&HAl | RE—FAE
Ar| 1734 KRR £&  $H—4530 1734 KR 2&
2 6
B2 | 1535 B RZ RILTC 1115 T # 3
2
c2 | 1115 T # FT=X-5K 111 B =
2
g1 | 1219) AF E Feain 1219 BF B
i3
A2 | 1067 BT BBIE  Swing'Swing! 111 ‘i =
i3
4
c1 | 1111 &Il =  Swing!'Swing! 6
i3




TF| F#Al F&)— 1440 A% FE 18 kM 7 5 25
= ELT,E Hﬁ % . @ By | Bn
g8 — _ e | BR[| B~ |F]F
§ %F]l] FEE ni‘iﬂ{ﬁg% it mlals $ %Gﬂ cla
xF =y AJOvH 1 2 3
2147 HHEAF| TOFHSC 6 1|6 O
211 2| 0[10of 13| 12092
[ ] [ ]
2051 INEHEF bu—TxTELH| 1 6 6 3
2121 1| 1]os0] 16| 7 [044
[ ] [ ]
2197| #FJI| £F | AMDGarden |0 6|3 6
21310 2000|115 3 |o020
[ ] [ ]
TF FH A B AOvY 1 2 3 4
2296 #H# HER | IYACTVAN 6 116 2|6 O
31| 3] 0]t00]21]18]086
. [ ] [ ] [ ]
2181 Al BHE | BMDGarden | 1 6| 2 6|1 6
3140 3]ooo|l22( 4 |o1s
[ ] | L] [ ]
2053 % [& BAZE | VeryBerry |2 6|6 2| 2 6
313| 1| 2]03324(10]042
[ ] [ ] [ ]
2002| HIL E=E EhH 0 6/[6 1|6 2]
321211 |ose7]21|12]057
[ ] [ ] [ ]
TF FH5 A cavy 1 2 3 4
2022 | (REREHETF ZEBRA 6 2|6 2|2 6
3212 106724 14]058
‘ [ ] [ ] [ ]
2061 #EE XMt | BDGarden | 2 6| 6 0|1 6
3(3] 1] 203321 9 |o4s
[ ] | L] [ ]
2323 {kiE BE |bu—GxTEECS| 2 60 6 0 6
31410 3(o00]20] 2 |o.10
[ ] [ ] [ ]
2304| SH ER EhH 6 2|16 1|6 0
3113|0100 21|18]0s6
[ ] [ ] [ ]
TF = D7 Ows 1 2 3
2184 A E=F | HLADE 6 4|16 2
21112 0/[100] 18| 12]067
‘ [ ] [ ]
2138| fERNERF| TEOFHSC 4 6| 6 2
2121 1] 1 |os0] 18| 10]056
[ ] | []
2084 SEEMBMEF| TN |2 6|2 6]
0 0 21310 2]ooo| 16| 4 |o2s




TF| FEhl |[REA—FAE
Al | 2147 BHEHF EDHSC 2147 BHEHF
i 6
co2 | 2022| fREEHEF ZEBRA 1 2147 EEEHF
i 6
D2 | 2138 EHRERF EDHSC 2138 BREKTF | 4
i 6
B1| 2296, #F HHK Y [ACTZA 2 2147 FBEEHTF
i
ci| 2304 §H =R EhH 2304 SH R
iz 6 WO
A2 | 2051 NREEF 50—k IECS 0 2304 SH £F
i 7
B2 | 2002 HIL E= EhH 2184 #E ¥ | 6
. 6 (5]
2184 ¥H E=F HLADEH 7

D1
fi

(1]




